PHYC 303 Quiz 8

1. A massless spring is hanging vertically, unloaded, from the
ceiling. A mass is attached to the bottom and released. How close
is the mass to its final resting position after 1 second, given that
the final resting position is 2 m below the starting position and
that the motion is critically damped? %
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Undamped:

x{f}= Acos{wt - 8}

x(0)y= B, cos{woty+ B, sinfor)
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Overdamped: x=C, e~

Critical: x=Ce® +Cyre™®

Underdamped: x= Ae™” cos(wt - 8)
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2. The period of an undamped oscillator increases by a small amount ¢ when damping is added.
The initial period is 10 s. Whatis {3, in terms of €7
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